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MCQO

YU SIAEL — 2

> agdd dd- arl —

(1)  agdy dd-t -u el s sl 52 897
(@) ABAABVR
(b)  FgAWR
(c) daer 53y
(d)  swRreu-uulas

(1) Who decides the Rate of minimum wages for Laboiur?
(a) State Government
(b) Central Government
(c) Lobour Court
(d) Factory Owner

(2) agdd ddt 58l S AR, A $AL UsR &l A3?

(@) algadl
(b) ~adls
() an~wdl

(d) suma-le
(2)  Which type of Act is to decide the minimum wages.
(@) Administrative
(b)  Juidicial
(c) Equity
(d) Noanyone
(3) agdax dd-t ARl 1948 <l G2a g &I u3?
(@) sMERld AN wesaa-l
(b)  las 4 AmA vsqqa-l
(C) earal nna-ily

(d) sua-le
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(3) What is the main object of minimum wages Act 1958?
(@) To abstain the atrocity of Labours
(b) To abstain the atrocity of owner.
(c) To maintain the orgainsations.
(d) Noanyone

(4) agdy da-t - el -l 3 QR J2al av wa 87

(@ 5ad
(b) 6ad
(c) 4ady
(d 7ad
(4) How many times take to further decision
(@) b5years
(b) 6 years
(c) 4years
(d) 7 years
(5) euRd AWK dd AR A2 daxt da-l a-u saRr 530 edl?
(a) 1956
(b) 1955
(c) 1957%
(d) 1958
(5)  When & Where the government of India decide to make the commission of wages
(@) 1956
(b) 1955
(c) 1957
(d) 1958
(6) oURA AR dAd-t YA -l [Fefa s21 usR-l el 13?
(@) ad-uAls
(b) ~uAdls

(c) eiaq sal$

(d ssua-l
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(6)

(7)

(7)

(8)

(8)

What type of decision of commission of wages in India?

(@) Quasiri Judicial

(b)  Judicial

(c) obligation

(d) Noanyone

agaH dd--l €A ABS SAA S S-F ABWIR ... A& a3?
(@) AdesR 6l

(b) dava

(c) RRasky

(d) sua-«le

Central Government can appoint to decide the minimum wages
(@) Advisory Board

(b) Commission of wages

() Inspectors

(d) Noany one

Agdi dd-t sl e dd-t sl 2ud AR SIHER S 2094 $30 w3?

(@) afand-d
(b) AR
(c) #4

(d aae+d

To whom can apply in cases of Low rate of wages by minimum wages by Labour?
(a) officers

(b) Government

(c) Court

(d) Arbitration

(Ocras sIMEIR A agdH dd-t Sl lEY Ad-t Ysadl €l AR d astad-ll 32al aefl 64 Ysa
la3?

(@) sua=il
(b)  2us a=fil
(c) o a=fll (d) R el
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(9) Incase of Law rate of wages how can pay the difference amount of wages?

(@) Multiply to Ten
(b)  Multiply to Eight
(c) Double

(d)  Multiply to Four

(10) ulas sneR - agdy dd-t -l €U sl il 64 s AR 324l 31, €3 <l Aon as a3?

(@) 500 3.
(b) 1000 3.
(c) 1500 3. ¥
(d) 2000 3.
(10) How many penalty have to pay in case of low rate of wages than minimum
wages?
(@) Rs.500/-
(b) Rs 1000/-
(c) Rs. 1500/-
() Rs. 2000/-
(11) ulas smer A agay dd-i- €L sdL el 64 Y54 AR J2al -l aon as a3,
(@ 6xax
(b) 12w
) 9xaw
(d) 3aw
(11) How many punishment given to accused person in case of law rate of payment of

wages?
(@) 06 months
(b) 12 months
(c) 9 months
(d) 3 months
(12) agds dd-t -u ed sA Gala 4 awy ud 8?7
(@) Beauty Perlour
(b) egal practice
() Traders$ (d)

Manufacturing Unit
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(12)

(13)

(13)

(1)

(1)

(2)

In which Industries can applicable of minimum wages rate?

(@) kplv$e® akp”_ L$ipPO - beauty parliar

(b) L$p_| uspgudL$ibv,° - Legal Practice Centre
() hjpfu - Traders

(d Dbpv$ L$sp® AjL$d - Manufactures

agdu dd- -l e2U sA Gala- ay AR wsa?

(@) 24 Gala

(b) =AR{ls Gala

(c) Hospital$

(d) Noanyone

To which factories can not applicable the rate of minimum wages act?
(@) Texindustrial

(b)  Ceramic Industries

(¢) Hospital

(d) Noany one

> SIMERL AL andR arl — 1923

SINEIR ANAR AURA SAUR Al xna Al dueal?

(@) 1924
(b) 1923
c) 1922
(d) 1921

When the at of Workmen Compensation Act-1923 is enforced?
(@) 1924

(b) 1923

) 1922

(d) 1921

euRdla s1eR and Rl 1923 3 ... .. L S1UEL R AR ©.
(@) Sod-s

(b) 2s

(€) =2edlsq (d) AqAq
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(2) Indian workmen compensation act 1923 depended on which act?

(@) England
(b) America
(c) Sweden
(d) Spine
(3)  sMER AndR ARL 1923 3 ¥ SMEIR, ddt $2difl aaR gla d- awdy widl «fl?
(a) 1000
(b) 2000
() 3000
(d) 4000

(3) Workmen Compensation Act is not applied to that Act when there is no wages

more than amount?

(a) 1000
(b) 2000
() 3000
(d) 4000
(4) ... AR 3 Ful d-l sua-l Al wi a2t 8.

(@) ilas 2anda
(b)  Ayel 2unda
(c) anda
(d) arnda
(4) What type of uncapactiy called and decreased in capacity of earn?
(@) Partial un capacity
(b)  Perfect un capacity
(c) Competency
(d) un Competency
(5) SR AdR ARl 1923 s ] wial -efl?
(@) 2dl nifar
(b) sRal
(c) Asler (d) sdl-
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(6) T owhom is not applied the Workmen Compensation Act?

(@) Trolly Driver

(b)  Moosion
(c) Guard
(d) Cleaner
(6)  2sBuddl AARUR SIHERAU ARAER andR+{l 2106171 s3] a3?
(@) shar
(b) sulas
(c) Qe
(d) sua«l

(6) The Legal Heirs to whom can apply for the compensation for expired or death

person by accident?
(@ Commissioner
(b) Owner

(c) Labour Court
(d) Noanyone

(7)  s0ud - A1l Rden disaai-ll 9 si-l 8 87

(@) alas-l
(b) sBer -l
(©) swmer-l
(d)  aRsrR-l

(7)  Who have to perform the only to give statement if the time of accident?
(@) owner
(b) commissioner
(c) worker
(d) Government
(8)  'afid SUAuA s’ Yol WAS Al andR Ysaa-l gaeieidl saR adl 11?
(@) lasR Higs e
(b)  serR Y Wil
() smer adl na

(d) ssua-l
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(8)

)

9)

(10)

(10)

When the owner is not responsible to pay the compensation to the worker under
provision of workmen compensation act?

(@) Inthe case of Pendency fight

(b) Inthe case of death of worker

(c) Inthe case of clime of worker

(d) Noanyone

SMEIR AndR ARE 1923 Yool sMa-R - g5 WA sal »Ra as a3?
(@) assié
(b) Qe s
(c) ylhwusié
(d) ~ava
When and where can appeal to commissioner of judgment of court under the

provision of Workmen Compensation Act?
(@) High Court
(b) Labour Court
() Supreme Court
(d)  Judicial Commission
SIMER A ANdR PsAU-L SRAAR L g53 $AR AR S1A2AR A g5id [ARA o 7
(@) alts awa [@-n
(b) =ulfasR [@-u
() anawnalel
When & where the Judgment has been illegal for enforceable the order for to pay
the compensation to worker?
(@) without inquiry
(b)  without right
() Intime of imitation
(d) Noanyone
> s AA [ arl — 1948
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(1)  ouRdul SIMER XA @R ARl s23 214 1 u?

(@) 1948
(b) 1947
(c) 1949
(d) 1950
(1)  When & where the E.S.I. Act was enforced in?
(@) 1948
(b) 1947
(c) 1949
(d) 1950
(2) s g -l seR A [Quarl A 2R 1l wan Aeulss adind - SIEL 9.
(@) ewra
(b) 2ARs
(c) Una
(d) $ods
(2)  Which country is first social security law of Employees State Insurance Act?
(@) India
(b) America
() Russia
(d) England

(3)  ser A [ ol - sla 52 87
(@)  FgAWBWR
(b)  RABAABUWR
(c) wKasiR
(d) suma-le
(3) Who establish the Employees State Insurance Corporation?
(@) Central Government
(b) State Government
(c) Standing Committee
(d) Noanyone
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(4)

(4)

()

()

(6)

(6)

YiedAl -l eol Anqal ARA-l alasia sia flss 53 97

()
(b)
(©)
(d)

3¢ AR
AR AR
qARsa ol

25w -

Who decide the qualification for person for take advantage of Iliness?

()
(b)
(©)
(d)

Central Government
State Government
Medical Board

No any one

A 2s2ud sl 210 A Al WRaun 69 3 30 dnl ey sia 5 97?

()
(b)
(©)
(d)

WRsa ais
o
AAY AR

3% AR

Who can decide the permanent un competency in the accident?

()
(b)
(©)
(d)

Medical Board
State Government
State Government

Central Government

QM Gavdd ABd 4 AR sa 6ol - A=y ol Adin 4 218 dl 2iRa s 530 a3?

()
(b)
(©)
(d)

[ 2e1ad
as s
Yl s
doRr sié

Where can make appeal in the circumstances in the satisfaction not done by

medical Board?

()
(b)
(©)
(d)

Insurance Court
High Court
Supreme Court

Labour Court

10
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(7)

(7)

(8)

(8)

©)

©)

XA AR dr§ Al asfloll ARl s sia sél 2 97
(@) [@Quaae

(b) eadad

(c) [

(d) ARsa el

Who can decide the provision of medical treatment by the state government?
(@) Arbritration

(b) High Court

(c) Corporation

(d) Medical Board

wlas-l vua stounidl YBa suva-ll ada s 9?

(@)  FgAWR

(b) NBAABWR

(c) assié

(d) (@ Ram

Who has per to exemption from allotment of owner?
(@) Central Government

(b) State Government

(c) High Court

(d) Insurance Corporation

seR R velad <l - sia 52 87

(@) UPAABR

(b)  Fg AR

() (@ [an

(d) suma-le

Who can construed an Insurance Court?

(@) Sate Government

(b) Central Government

(¢) Insurance Corporation

(d) Noanyone

11
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(10)

(10)

1)

(1)

(2)

(2)

R 2eidd RBadl sieiad gl s aawwt aud S d-l sl ... wsrR+{l 8?
(@) xd Al

(b) ~Adls

() aael

(d) sua-le

What type of procedure of Insurance Court? It holds the powers like to civil
court?

(@) Quari Judicial

(b) Indicial

(c) Arbitrations
(d) Noany one
> ARG s
A2 S Anaal 2 s1erR el vl J2al ad-l s Y3 s34l eidl Ad1?
(@ 5ad

(b) 6ad

(c) 10ad

(d) 1lad

How many years, of service may be necessary to obtain the amount of Gratuity?
(@) 5years

(b) 6 years

(¢) 10vyears

(d) 11 years

A2 Anaai-l S1HeR -l RS S SR AL 7

(@) suz -l

(b) waewa

() <alaad

(d) sua-le

Which kind of right has been arised to get gratuity?
(@) Legally

(b) Fundamentally

(c) Personally

12
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(3)

(3)

(4)

(4)

()

()

(d) No nay one

ARG S1MEIR A AU uuAl sud 97
(@ [aleand

(b) & eRxwA

() n-ulzad

(d) sua-le

When gratuity mabe paid to worker?
(@) At the time of retirement

(b)  During the duty

(c) Atthe Holiday

(d) Noany one

SMER - ag Ui ag 32dl w1 -l wuR AT aR3 noll a3?

(@ 20 ule-u
(b) 25ule-u
(c) 10ule-u
(d) 15uls-u

How many months salary paid as gratuity?

(@) 20 months

(b) 25 months

(¢) 10 months

(d) 15 months

wlas A2 Ysaanl sy 8 di d 49l 64 -l ayad sl 547
(@) sds2R

(b) ~walda

() ~ava

(d) sua-le

Who can recover the due amount of gratuity if the owner is default to pay the

gratuity?

(@) Collector

(b)  Judge

(c)  Juidicial Commissior (d) Noanyone

13
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(6) ke Rad g3 AT 4 54 dl d- e Al 209l 324l un ad a3?

@ 3w
(b) 6w
() 9w
(d) 12ax

(6) How many minimum Punishment may be fined to owner if the can’t pay the
gratuity in time?
(@ 3 months
(b) 6 months
(c) 9 months
(d) 12 months

> oliq ysaell arl — 1956

(1)  oliqa <l vaa 58 Qaruwel W 2ualRa 97

(@) aulys ~ua
(b) 3l
() sq-l
(d) suma-le
(1) Inwhich theories based the concept of bonus?
(@) Social Justice
(b) Customary
(c) Legally
(d) Noanyone

(2) Galblui aqRL il agiil eudl Aaqai-l ARSI ved §?

(@) olqa
(b) Qlas=s
() e
(d) sl
(2) What is the right of part the profit in Industries?
(@) Bonus
(b) Dividend
(c) Interest (d) Profit

14
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(3)  sMeRl 4 2unaril suadl sl -l agax valel 324l Avarit xall §?

(@ 8.33

(b) 9.33

(c) 7.33

(d) 10.33

(3) How many minimum limits of Bonus paying the worker?

(@ 8.33%

(b) 9.33%

(c) 7.33%

(d) 10.33%

(4) ol Aaaal 2 s1uerR [l ari-l 2l ui 2ol 32al Ran 511 539, slg ASA?

(@ 30

(b) 24

(c) 45

(d 50
(4) How many minimum working days may be necessary to obtain the amount of
Bonus?

(@ 30

(b) 24

(c) 45

(d 50

(5) YRARIA 214 sldoinil 519 Sl 2UUSL 21 S1AEL 50 6l HAqal.
(@) esserR Yl
(b) eser®.
(c) 3RAa®.
(d) WHAEH.
(5) Has been entitle to get the bonus who are working in university and colleges?
(@) Notentitle

(b) entitle
(c) Customary
(d) By pitty

15
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(6)

(6)

(7)

(7)

serR A Raefl af g2 d-lL WaUR-L 32dL 251 3 ol 20l asa?

How many maximum percentage of salary as a bonus can be paid to worker?

SMEIR < ot [Rasll adl Y3 aa ugl d ysaar-dl ana walen 324l Agvmanii sudl 8?

How many time limit may be required to pay the bonus during the one account

(@ 202s

(b) 10as

(c) 8.332s

(d) 9.332s

(@) 20% of salary
(b) 10% of salary
(c) 8.33% of salary
(d) 9.33% of salary
(@) 8uls-u

(b) 6uls-u

(c) 7uls-u

(d) 5uls-u

year?

(@) 8 months

(b) 6 months

() 7 months

(d) 5 months

16





